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:anisotropy):
V:_ka—h ——ka—h v—_a_h
X Xax’ y_ Yay’ z az (19)
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(22) (24), (23) (25)
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(27) (28) +B.Css, =>

d’(X,z)=congt. : (equipotential lines)
Y (x,z)=cosnt flowlines
dd’'=0, dV D oD
dZ V d@'zadx+§dz,
®’:const line: dd'=v,dx+v,dz=0, —=—-—=* (99
v, O | vy vy
] dz Vv OX 0z
Y:const line: d¥ =-v,dx+v,dz=0, —=-% (30)
dx Vv, +eq.(24),(25)
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dg db

dq =v,dz—v,dx (31)
oY oY
(29) %= % T

oY oY
dg=—dz+—dx=d¥
d 0Z OX (32)

(32) ,

AQ= jj” d¥ =A% (33)

, V=A49/4b, 1=-4h/ 4s.
Ag/Ab=-k(An/As) (34)

Ag= (4b/4as) A@ |(35) <=eq.(26) @’'=-kh
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Ab=A4s
(33),(35)

®’=-kh

gAq:A% AD (36)

4h const

G=NAGEN, AP =N AD = (N,/Ny) Ny AD (37)
hh de
(26) ,NyA@ =-kN, Ah= k(h,-h,)
0= -K(N¢/Ng) (h,-hy) (38)
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Model test showing flowlines

tracer.dye
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1st:
2rd:h=h _+h
39 P9 %)

1st:
2nd:
3rd:

(he)

U=hoX pug

"o =o-U
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technical terms

.constant head permeameter test;
(falling head permeameter test;
Isotropy; .anisotropy;
equipotential lines;

flowlines
flownet
P15
1
2 k=10" m/day
3

-1.5m
Yo=L10KN/m3
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